# TRANSFORMATION FORMULAS FOR THE GENERATING FUNCTIONS FOR CRANKS 

Sung-Geun Lim


#### Abstract

B. C. Berndt [6] has evaluated the transformation formula for a large class of functions that includes and generalizes the classical Dedekind eta-function. In this paper, we consider a twisted version of his formula. Using this transformation formula, we derive modular transformation formulas for the generating functions for cranks which were central to deduce K. Mahlburg's results in [11].


## 1. Introduction

In 1944, Freeman Dyson [7] defined the rank of a partition to be the largest part minus the number of parts. He conjectured that using this, one could give combinatorial interpretations and proofs of two of the Ramanujan's congruences for the partition function $p(n)$, namely, $p(5 n+4) \equiv 0(\bmod 5)$ and $p(7 n+5) \equiv 0(\bmod 7)$. His conjectures were proved by Atkin and SwinnertonDyer [3]. However, the rank function did not give any combinatorial interpretation for Ramanujan's third congruence $p(11 n+6) \equiv 0(\bmod 11)$. Dyson conjectured the existence of another partition statistic, a "crank", that would interpret the congruence modulo 11 combinatorially. Forty years later, Andrews and Garvan [2] found such a statistic that explains all three Ramanujan congruences combinatorially. For a partition $\lambda$ of a positive integer $n$, let $\rho(\lambda)$ be the largest part of $\lambda$, let $\mu(\lambda)$ be the number of ones in $\lambda$, and let $\nu(\lambda)$ be the number of parts of $\lambda$ strictly larger than $\mu(\lambda)$. The crank $c(\lambda)$ is defined by

$$
c(\lambda)= \begin{cases}\rho(\lambda), & \text { if } \mu(\lambda)=0 \\ \nu(\lambda)-\mu(\lambda), & \text { if } \mu(\lambda)>0\end{cases}
$$

Let $M(m, n), n>1$, denote the number of partitions of $n$ with crank $m$. For $n \leq 1$, we define [8]

$$
M(m, n)=\left\{\begin{aligned}
-1, & \text { if }(m, n)=(0,1) \\
1, & \text { if }(m, n)=(0,0),(1,1),(-1,1) \\
0, & \text { otherwise }
\end{aligned}\right.
$$

Received March 8, 2011; Accepted May 7, 2011.

The generating function for $M(m, n)$ is given by [2]

$$
\sum_{m=-\infty}^{\infty} \sum_{n=0}^{\infty} M(m, n) a^{m} q^{n}=\frac{(q ; q)_{\infty}}{(a q ; q)_{\infty}(q / a ; q)_{\infty}}
$$

where

$$
\begin{aligned}
& (a ; q)_{n}:=\prod_{k=0}^{n-1}\left(1-a q^{k}\right) \\
& (a ; q)_{\infty}:=\lim _{n \rightarrow \infty}(a ; q)_{n},|q|<1
\end{aligned}
$$

Let $M(m, N, n)$ denote the number of partitions $\lambda$ of $n$ with crank congruent to $m$ modulo $N$. Then

$$
M(m, N, n)=\sum_{k=-\infty}^{\infty} M(m+k N, n)
$$

and the generating function for $M(m, N, n)$ is given by

$$
\sum_{n=0}^{\infty} M(m, N, n) q^{n}=\frac{1}{N} \sum_{g=0}^{N-1} \frac{(q ; q)_{\infty} \zeta^{-m g}}{\left(\zeta^{-g} q ; q\right)_{\infty}\left(\zeta^{g} q ; q\right)_{\infty}}
$$

where $\zeta=e^{2 \pi i / N}$. K. Mahlburg [11] proved that for any positive integers $k$ and $j$, and for a prime $\ell \geq 5$, there are infinitely many non-nested arithmetic progressions $A n+B$ such that

$$
M\left(m, \ell^{j}, A n+B\right) \equiv 0\left(\bmod \ell^{k}\right)
$$

simultaneously for every $0 \leq m \leq \ell^{j}-1$. Let $\ell$ be a prime and $N$ be a positive power of $\ell$. Let

$$
\begin{equation*}
K_{m}(z):=\frac{1}{2 \pi i} \sum_{g=1}^{N-1} \zeta^{-m g} q^{-\frac{1}{24}} \eta^{\ell}(\ell z) F\left(\zeta^{g}, z\right)+\frac{\eta^{\ell}(\ell z)}{\eta(z)} \tag{1.1}
\end{equation*}
$$

where $\eta(z)$ is the Dedekind eta function, $q=e^{2 \pi i z}$ for $z \in \mathbb{C}$ with $\operatorname{Im} z>0$, and

$$
\begin{aligned}
F\left(\zeta^{g}, z\right) & :=\frac{(q ; q)_{\infty}}{\left(\zeta^{-g} q ; q\right)_{\infty}\left(\zeta^{g} q ; q\right)_{\infty}} \\
& =\prod_{k=0}^{\infty}\left(1-q^{k+1}\right)\left(1-\zeta^{-g} q^{k+1}\right)^{-1}\left(1-\zeta^{g} q^{k+1}\right)^{-1}
\end{aligned}
$$

Let $G_{m}(z)$ and $P(z)$, respectively, denote the two summands in (1.1). In his famous work [11], K. Mahlburg, using modular properties of related functions, showed that for $\ell \geq 5, G_{m}(z)$ is a nearly holomorphic modular form of weight $(\ell+1) / 2$ for the modular group $\Gamma\left(2 N^{2}\right)$ and $P(z)$ is a modular form of weight $(\ell-1) / 2$ for the modular group $\Gamma_{0}(\ell)$ with character $(\dot{\bar{\ell}})$. These modular properties of $G_{m}(z)$ and $P(z)$ play an important role in his work, although he did not give modular transformation formulas for these functions. He claimed that he had been really appealing to the work of Kubert and Lang [10] at Number

Theory Fest 2007 which was held in UIUC. In this paper, using a twisted version of the transformation formula given by B. Berndt [6], we establish modular transformation formulas for $G_{m}(z)$ and $P(z)$.

## 2. Notations and preliminaries

We follow notations in [6] except for some twisted functions. If $w$ is a complex, we choose the branch of the argument defined by $-\pi \leq \arg w<\pi$. Let $e(w)=e^{2 \pi i w}$. For a positive integer $N$, let $\lambda_{N}$ denote the characteristic function of the integers modulo $N$, i.e.,

$$
\lambda_{N}(m)= \begin{cases}1, & \text { if } m \equiv 0(\bmod N) \\ 0, & \text { otherwise }\end{cases}
$$

In the sequel, $V \tau=V(\tau)=\frac{a \tau+b}{c \tau+d}$ always denotes a modular transformation with $c>0$ and $c \equiv 0(\bmod N)$ for every complex $\tau$. We say that $V$ corresponds to a matrix $\left(\begin{array}{ll}a & b \\ c & d\end{array}\right)$. Let $r=\left(r_{1}, r_{2}\right)$ and $h=\left(h_{1}, h_{2}\right)$ denote real vectors, and define the associated vectors $R$ and $H$ by

$$
R=\left(R_{1}, R_{2}\right)=\left(a r_{1}+c r_{2}, b r_{1}+d r_{2}\right)
$$

and

$$
H=\left(H_{1}, H_{2}\right)=\left(d h_{1}-b h_{2},-c h_{1}+a h_{2}\right) .
$$

For real $x, \alpha$ and $\operatorname{Re}(s)>1$, let

$$
\psi(x, \alpha, s):=\sum_{n+\alpha>0} \frac{e(n x)}{(n+\alpha)^{s}}
$$

In fact, $\psi(x, \alpha, s)$ can be analytically continued to the entire $s$-plane [4]. For a real number $x,[x]$ denotes the greatest integer less than or equal to $x$ and $\{x\}:=x-[x]$. Let $\mathbb{H}=\{\tau \in \mathbb{C} \mid \operatorname{Im}(\tau)>0\}$, the upper half-plane. For $\tau \in \mathbb{H}$ and an arbitrary complex number $s$, define

$$
A_{N}(\tau, s ; r, h):=\sum_{N m+r_{1}>0} \sum_{n-h_{2}>0} \frac{e\left(N m h_{1}+\left(\left(N m+r_{1}\right) \tau+r_{2}\right)\left(n-h_{2}\right)\right)}{\left(n-h_{2}\right)^{1-s}} .(2.1)
$$

Let

$$
H_{N}(\tau, s ; r, h):=A_{N}(\tau, s ; r, h)+e\left(\frac{s}{2}\right) A_{N}(\tau, s ;-r,-h)
$$

Now we state a twisted version of Theorem 2.1 in [6].

Theorem 2.1. ([6]) Let $Q=\left\{\tau \in \mathbb{C} \left\lvert\, \operatorname{Re}(\tau)>-\frac{d}{c}\right.\right\}, \varrho_{N}=c\left\{R_{2}\right\}-N d\left\{R_{1} / N\right\}$ and let $c=c^{\prime} N$. Then for $\tau \in Q$ and all $s \in \mathbb{C}$,

$$
\begin{aligned}
& (c \tau+d)^{-s} H_{N}(V \tau, s ; r, h) \\
& =H_{N}(\tau, s ; R, H)-\lambda_{N}\left(r_{1}\right) e\left(-r_{1} h_{1}\right)(c \tau+d)^{-s} \Gamma(s)(-2 \pi i)^{-s}\left(\psi\left(h_{2}, r_{2}, s\right)\right. \\
& \left.\quad+e\left(\frac{s}{2}\right) \psi\left(-h_{2},-r_{2}, s\right)\right)+\lambda_{N}\left(R_{1}\right) e\left(-R_{1} H_{1}\right) \Gamma(s)(-2 \pi i)^{-s}\left(\psi\left(H_{2}, R_{2}, s\right)\right. \\
& \left.\quad+e\left(-\frac{s}{2}\right) \psi\left(-H_{2},-R_{2}, s\right)\right)+(2 \pi i)^{-s} L_{N}(\tau, s ; R, H)
\end{aligned}
$$

where

$$
\begin{array}{r}
L_{N}(\tau, s ; R, H):=\sum_{j=1}^{c^{\prime}} e\left(-H_{1}\left(N j+N\left[R_{1} / N\right]-c\right)-H_{2}\left(\left[R_{2}\right]+1+\left[\left(N j d+\varrho_{N}\right) / c\right]-d\right)\right) \\
\cdot \int_{C} u^{s-1} \frac{e^{-(c \tau+d)\left(N j-N\left\{R_{1} / N\right\}\right) u / c}}{e^{-(c \tau+d) u}-e\left(c H_{1}+d H_{2}\right)} \frac{e^{\left\{\left(N j d+\varrho_{N}\right) / c\right\} u}}{e^{u}-e\left(-H_{2}\right)} d u
\end{array}
$$

where $C$ is a loop beginning at $+\infty$, proceeding in the upper half-plane, encircling the origin in the positive direction so that $u=0$ is the only zero of

$$
\left(e^{-(c \tau+d) u}-e\left(c H_{1}+d H_{2}\right)\right)\left(e^{u}-e\left(-H_{2}\right)\right)
$$

lying "inside" the loop, and then returning to $+\infty$ in the lower half plane. Here, we choose the branch of $u^{s}$ with $0<\arg u<2 \pi$.

Here, for brevity, we set
$D_{1}\left(h_{2}, r_{2}, s\right):=-(c \tau+d)^{-s} \Gamma(s)(-2 \pi i)^{-s}\left(\psi\left(h_{2}, r_{2}, s\right)+e\left(\frac{s}{2}\right) \psi\left(-h_{2},-r_{2}, s\right)\right)$, and

$$
D_{2}\left(H_{2}, R_{2}, s\right):=\Gamma(s)(-2 \pi i)^{-s}\left(\psi\left(H_{2}, R_{2}, s\right)+e\left(-\frac{s}{2}\right) \psi\left(-H_{2},-R_{2}, s\right)\right)
$$

To compute $L_{N}(\tau, s ; R, H)$ for any integer $s$, we shall use the generating function

$$
\frac{t e^{x t}}{e^{t}-1}=\sum_{n=0}^{\infty} B_{n}(x) \frac{t^{n}}{n!}(|t|<2 \pi)
$$

for Bernoulli polynomials $B_{n}(x), n \geq 0$. The $n$-th Bernoulli number $B_{n}, n \geq 0$, is defined by $B_{n}=B_{n}(0)$. Put $\bar{B}_{n}(x)=B_{n}(\{x\}), n \geq 0$. Recall that $B_{2 n+1}=$ $0, n \geq 1$, and that $B_{2 n+1}\left(\frac{1}{2}\right)=0, n \geq 0$. We often use the following formulas [1];

$$
\begin{gather*}
B_{n}(1-x)=(-1)^{n} B_{n}(x),  \tag{2.2}\\
\sum_{j=0}^{c-1} B_{n}\left(\frac{j}{c}+x\right)=c^{1-n} B_{n}(c x), \tag{2.3}
\end{gather*}
$$

Let $\zeta(s, x)$ be the Hurwitz zeta-function. For $D_{1}\left(h_{2}, r_{2}, s\right)$ and $D_{2}\left(H_{2}, R_{2}, s\right)$ when $s=-2 n$, we have two lemmas as follows.

Lemma 2.2. Let $n$ be an arbitrary integer and assume that $r_{2}, R_{2}$ are not integers. If $n<0$, then

$$
\begin{aligned}
\lim _{s \rightarrow-2 n} D_{1}\left(0, r_{2}, s\right)= & -(2 \pi i)^{2 n} \Gamma(-2 n)(c \tau+d)^{2 n}\left(\zeta\left(-2 n,\left\{r_{2}\right\}\right)\right. \\
& \left.+\zeta\left(-2 n, 1-\left\{r_{2}\right\}\right)\right) \\
\lim _{s \rightarrow-2 n} D_{2}\left(0, R_{2}, s\right)= & (2 \pi i)^{2 n} \Gamma(-2 n)\left(\zeta\left(-2 n,\left\{R_{2}\right\}\right)+\zeta\left(-2 n, 1-\left\{R_{2}\right\}\right)\right) .
\end{aligned}
$$

If $n=0$, then

$$
\begin{aligned}
& \lim _{s \rightarrow 0} D_{1}\left(0, r_{2}, s\right)=\log \left(1-e^{-2 \pi i r_{2}}\right) \\
& \lim _{s \rightarrow 0} D_{2}\left(0, R_{2}, s\right)=-\log \left(1-e^{-2 \pi i R_{2}}\right)-2 \pi i \bar{B}_{1}\left(R_{2}\right)
\end{aligned}
$$

If $n>0$, then

$$
\begin{aligned}
& \lim _{s \rightarrow-2 n} D_{1}\left(0, r_{2}, s\right)=-(c \tau+d)^{2 n} \psi\left(-r_{2}, 0,1+2 n\right), \\
& \lim _{s \rightarrow-2 n} D_{2}\left(0, R_{2}, s\right)=\psi\left(R_{2}, 0,1+2 n\right) .
\end{aligned}
$$

Lemma 2.3. Let $n$ be an arbitrary integer and assume that $r_{2}, R_{2}$ are integers. If $n=0$, then

$$
\lim _{s \rightarrow 0}\left(D_{1}\left(0, r_{2}, s\right)+D_{2}\left(0, R_{2}, s\right)\right)=\pi i-\log (c \tau+d)
$$

If $n \neq 0$, then

$$
\begin{aligned}
& \lim _{s \rightarrow-2 n} D_{1}\left(0, r_{2}, s\right)=-\zeta(1+2 n)(c \tau+d)^{2 n}, \\
& \lim _{s \rightarrow-2 n} D_{2}\left(0, R_{2}, s\right)=\zeta(1+2 n)
\end{aligned}
$$

These lemmas are immediate consequences of facts in [5], pp. 501-502 and an elementary calculus.

## 3. Transformation formulas for the generating functions for cranks

In this section, let $H(\tau, s ; r, h):=H_{1}(\tau, s ; r, h), L(\tau, s ; r, h):=L_{1}(\tau, s ; r, h)$, $\varrho:=\varrho_{1}$ and $\lambda:=\lambda_{1}$. We start with computation for the transformation formula of the generating function for $M(m, N, n)$. At first, we have

$$
\begin{aligned}
& \log F\left(\zeta^{g}, z\right) \zeta^{-m g} \\
& =\log \zeta^{-m g}+\sum_{k=0}^{\infty} \log \left(1-q^{k+1}\right)-\sum_{k=0}^{\infty} \log \left(1-\zeta^{-g} q^{k+1}\right)-\sum_{k=0}^{\infty} \log \left(1-\zeta^{g} q^{k+1}\right) \\
& =-\frac{2 \pi i m g}{N}-\sum_{k=1}^{\infty} \sum_{n=1}^{\infty} \frac{e(k n z)}{n}+\sum_{k=1}^{\infty} \sum_{n=1}^{\infty} \frac{e\left(-\frac{g n}{N}+k n z\right)}{n}+\sum_{k=1}^{\infty} \sum_{n=1}^{\infty} \frac{e\left(\frac{g n}{N}+k n z\right)}{n} \\
& =-\frac{2 \pi i m g}{N}-\frac{1}{2} H(z, 0 ; 0,0)+H(z, 0 ; r, 0),
\end{aligned}
$$

where $r=(0, g / N)$. Let $V$ be a modular transformation corresponding to the matrix

$$
\left(\begin{array}{ll}
a & b \\
c & d
\end{array}\right) \in \mathbf{S L}_{2}(\mathbb{Z})
$$

We have

$$
\log F\left(\zeta^{g}, V z\right) \zeta^{-m g}=-\frac{2 \pi i m g}{N}-\frac{1}{2} H(V z, 0 ; 0,0)+H(V z, 0 ; r, 0)
$$

By Theorem 2.1, Lemma 2.3, (2.2) and (2.3),

$$
\begin{align*}
& H(V z, 0 ; 0,0) \\
& =H(z, 0 ; 0,0)+\lim _{s \rightarrow 0}\left(D_{1}(0,0, s)+D_{2}(0,0, s)\right)+L(z, 0 ; 0,0) \\
& =H(z, 0 ; 0,0)-\log (c z+d)-\frac{\pi i}{6 c}\left((c z+d)+(c z+d)^{-1}\right) \\
& \quad+2 \pi i s(d, c)+\frac{\pi i}{2} \tag{3.1}
\end{align*}
$$

where

$$
s(d, c):=\sum_{j=1}^{c-1}\left(\left(\frac{j}{c}\right)\right)\left(\left(\frac{d j}{c}\right)\right)
$$

and

$$
((x)):= \begin{cases}\{x\}-\frac{1}{2}, & \text { if } x \notin \mathbb{Z} \\ 0, & \text { otherwise }\end{cases}
$$

Next, since $R=\left(R_{1}, R_{2}\right)=(c g / N, d g / N)$, we have

$$
\begin{align*}
H(V z, 0 ; r, 0)= & H(z, 0 ; R, 0)+L(z, 0 ; R, 0) \\
& +\lim _{s \rightarrow 0}\left(D_{1}\left(0, \frac{g}{N}, s\right)+\lambda\left(\frac{c g}{N}\right) D_{2}\left(0, \frac{d g}{N}, s\right)\right) . \tag{3.2}
\end{align*}
$$

If $g=0$, then $H(V z, 0 ; r, 0)=H(V z, 0 ; 0,0)$. Thus, by (3.1), we find that

$$
\begin{aligned}
& \log \left(F\left(\zeta^{g}, V z\right) \zeta^{-m g}\right)=\log F(1, V z)=\frac{1}{2} H(V z, 0 ; 0,0) \\
& =\log F(1, z)-\frac{1}{2} \log (c z+d)-\frac{\pi i}{12 c}\left((c z+d)+(c z+d)^{-1}\right) \\
& \quad+\pi i s(d, c)+\frac{\pi i}{4}
\end{aligned}
$$

We now assume that $g \neq 0$ and $N \mid c$. It is easy to see that

$$
\begin{align*}
H(V z, 0 ; R, 0)= & \sum_{k+c g / N>0} \sum_{n=1}^{\infty} \frac{e(((k+c g / N) z+d g / N) n)}{n} \\
& +\sum_{k-c g / N>0} \sum_{n=1}^{\infty} \frac{e(((k-c g / N) z-d g / N) n)}{n} \\
= & \log F\left(\zeta^{d g}, z\right) . \tag{3.3}
\end{align*}
$$

TRANSFORMATION FORMULAS FOR GENERATING FUNCTIONS FOR CRANKS 345

Employing Lemma 2.2, we find that

$$
\begin{align*}
& \lim _{s \rightarrow 0}\left(D_{1}\left(0, \frac{g}{N}, s\right)+\lambda\left(\frac{c g}{N}\right) D_{2}\left(0, \frac{d g}{N}, s\right)\right) \\
& =\log \left(1-e^{-2 \pi i \frac{g}{N}}\right)-\log \left(1-e^{-2 \pi i \frac{d g}{N}}\right)-2 \pi i \bar{B}_{1}\left(\frac{d g}{N}\right) . \tag{3.4}
\end{align*}
$$

Since $\varrho=c\left\{R_{2}\right\}-d\left\{R_{1}\right\}=c\{d g / N\}-d\{c g / N\}$ and $N \mid c, \varrho$ is an integer. Thus by (2.2) and (2.3), we obtain

$$
\begin{align*}
& L(z, 0 ; R, 0) \\
&= 2 \pi i \sum_{j=1}^{c} \sum_{k=1}^{2} \frac{B_{k}((j-\{c g / N\}) / c) B_{2-k}(\{(j d+\varrho) / c\})}{k!(2-k)!}(-1)^{k-1}(c z+d)^{k-1} \\
&=-\pi i \sum_{j=1}^{c} \bar{B}_{2}\left(\frac{j d+\varrho}{c}\right)(c z+d)^{-1}-\pi i \sum_{j=1}^{c} B_{2}\left(\frac{j-\{c g / N\}}{c}\right)(c z+d) \\
&+2 \pi i \sum_{j=1}^{c} B_{1}\left(\frac{j-\{c g / N\}}{c}\right) \bar{B}_{1}\left(\frac{j d+\varrho}{c}\right) \\
&=-\frac{\pi i}{c}\left(\bar{B}_{2}(\varrho)(c z+d)^{-1}+\bar{B}_{2}\left(\frac{c g}{N}\right)(c z+d)\right) \\
&+2 \pi i \sum_{j=1}^{c} B_{1}\left(\frac{j-\{c g / N\}}{c}\right) \bar{B}_{1}\left(\frac{j d+\varrho}{c}\right) \\
&=-\frac{\pi i}{6 c}\left((c z+d)^{-1}+(c z+d)\right)+2 \pi i \sum_{j=1}^{c} B_{1}\left(\frac{j}{c}\right) \bar{B}_{1}\left(\frac{j d}{c}+\left\{\frac{d g}{N}\right\}\right) \cdot(3.5) \tag{3.5}
\end{align*}
$$

We see that

$$
\begin{align*}
& \sum_{j=1}^{c} B_{1}\left(\frac{j}{c}\right) \bar{B}_{1}\left(\frac{j d}{c}+\left\{\frac{d g}{N}\right\}\right) \\
& =s\left(d, c ; \frac{d g}{N},-\frac{c g}{N}\right)+\frac{1}{2} \bar{B}_{1}\left(\frac{d g}{N}\right)+\frac{1}{2} B_{1}\left(\frac{g}{N}\right), \tag{3.6}
\end{align*}
$$

where, for any real numbers $x, y$,

$$
s(d, c ; x, y):=\sum_{j=0}^{c-1}\left(\left(d \frac{j+y}{c}+x\right)\right)\left(\left(\frac{j+y}{c}\right)\right) .
$$

Hence, substituting (3.3), (3.4), (3.5), (3.6) into (3.2), we conclude that

$$
\begin{align*}
\log \left(F\left(\zeta^{g}, V z\right) \zeta^{-m g}\right)= & \log \left(F\left(\zeta^{d g}, z\right) \zeta^{-m g}\right)+\frac{1}{2} \log (c z+d)-\pi i s(d, c) \\
& -\frac{\pi i}{12 c}\left((c z+d)^{-1}+(c z+d)\right)+2 \pi i s\left(d, c ; \frac{d g}{N},-\frac{c g}{N}\right) \\
& -\pi i \bar{B}_{1}\left(\frac{d g}{N}\right)+\pi i B_{1}\left(\frac{g}{N}\right)+\log \left(1-e^{-\frac{2 \pi i g}{N}}\right) \tag{3.7}
\end{align*}
$$

$$
-\log \left(1-e^{-\frac{2 \pi i d g}{N}}\right)-\frac{\pi i}{4}
$$

We now derive transformation formulas for $P(z)$ and $G_{m}(z)$. Let $V$ be a modular transformation corresponding to the matrix

$$
\left(\begin{array}{ll}
a & b \\
c & d
\end{array}\right), c=c^{\prime} \ell
$$

From (1.1),

$$
K_{m}(V z)=\frac{1}{2 \pi i} \sum_{g=1}^{N-1} \zeta^{-m g} e(V z)^{-\frac{1}{24}} \eta^{\ell}(\ell V z) F\left(\zeta^{g}, V z\right)+\frac{\eta^{\ell}(\ell V z)}{\eta(V z)}
$$

Since

$$
\begin{aligned}
\log \eta(z) & =\frac{\pi i}{12} z-\frac{1}{2} H(z, 0 ; 0,0) \\
\log \eta(\ell z) & =\frac{\pi i}{12} \ell z-\frac{1}{2} H(\ell z, 0 ; 0,0)
\end{aligned}
$$

In [5], we see that

$$
\begin{equation*}
\log \eta(V z)=\log \eta(z)+\frac{1}{2} \log (c z+d)-\pi i s(d, c)-\frac{\pi i}{4}+\pi i \frac{a+d}{12 c} \tag{3.8}
\end{equation*}
$$

By Theorem 2.1, we have

$$
\begin{align*}
H(\ell V z, 0 ; 0,0)= & H_{\ell}(V z, 0 ; 0,0) \\
= & H_{\ell}(z, 0 ; 0,0)+\lim _{s \rightarrow 0}\left(D_{1}(0,0, s)+D_{2}(0,0, s)\right) \\
& +L_{\ell}(z, 0 ; 0,0) \tag{3.9}
\end{align*}
$$

Lemma 2.3 gives us that

$$
\begin{equation*}
\lim _{s \rightarrow 0}\left(D_{1}(0,0, s)+D_{2}(0,0, s)\right)=\pi i-\log (c z+d) \tag{3.10}
\end{equation*}
$$

It follows from (2.2) and (2.3) that

$$
\begin{align*}
L_{\ell}(z, 0 ; 0,0) & =2 \pi i \sum_{j=1}^{c^{\prime}} \sum_{k=0}^{2} \frac{B_{k}\left(j / c^{\prime}\right) B_{2-k}\left(\left\{j d / c^{\prime}\right\}\right)}{k!(2-k)!}(-1)^{k-1}(c z+d)^{k-1} \\
& =-\frac{\pi i}{6 c^{\prime}}\left((c z+d)+(c z+d)^{-1}\right)+2 \pi i s\left(d, c^{\prime}\right)-\frac{\pi i}{2} \tag{3.11}
\end{align*}
$$

Thus we obtain from (3.9), (3.10) and (3.11) that

$$
\begin{align*}
\log \eta(\ell V z)= & \frac{\pi i}{12} \ell V z-\frac{1}{2} H_{\ell}(V z, 0 ; 0,0) \\
= & \frac{\pi i}{12} \ell V z-\frac{1}{2} H_{\ell}(z, 0 ; 0,0)-\frac{\pi i}{6 c^{\prime}}\left((c z+d)+(c z+d)^{-1}\right) \\
& +\frac{1}{2} \log (c z+d)+2 \pi i s\left(d, c^{\prime}\right) \\
= & \log \eta(\ell z)+\frac{1}{2} \log (c z+d)-\pi i s\left(d, c^{\prime}\right)-\frac{\pi i}{4} \\
& +\frac{\pi i}{12} \frac{a+d}{c^{\prime}} \tag{3.12}
\end{align*}
$$

Theorem 3.1. For $V \in \Gamma_{0}(\ell)$,

$$
\begin{aligned}
\log P(V z)= & \log P(z)+\frac{\ell-1}{2} \log (c z+d)+\pi i(s(d, c)-\ell s(d, c / \ell)) \\
& -\frac{\pi i}{4}(\ell-1)+\frac{\pi i}{12} \frac{a+d}{c}\left(\ell^{2}-1\right)
\end{aligned}
$$

Proof. We see that

$$
\log P(V z)=\log \left(\frac{\eta^{\ell}(\ell V z)}{\eta(V z)}\right)=\ell \log \eta(\ell V z)-\log \eta(V z) .
$$

Then the desired results follow from (3.8), (3.12).
For $g \neq 0$, let

$$
H_{m, g}(z):=\zeta^{-m g} e\left(-\frac{z}{24}\right) \eta^{\ell}(\ell z) F\left(\zeta^{g}, z\right) .
$$

Then

$$
G_{m}(z)=\frac{1}{2 \pi i} \sum_{g=1}^{N-1} H_{m, g}(z)
$$

and

$$
G_{m}(V z)=\frac{1}{2 \pi i} \sum_{g=1}^{N-1} H_{m, g}(V z)
$$

Thus it is sufficient to compute the transformation formulas of $H_{m, g}(z)$ to obtain the transformation formulas of $G_{m}(z)$. Using (3.7) and (3.12), we obtain that

$$
\begin{align*}
& \log H_{m, g}(V z) \\
= & -\frac{2 \pi i m g}{N}-\frac{2 \pi i V z}{24}+\ell \log \eta(\ell V z)+\log F\left(\zeta^{g}, V z\right) \\
= & \log H_{m, g}(z)+\log F\left(\zeta^{d g}, z\right)-\log F\left(\zeta^{g}, z\right)+\frac{\ell+1}{2} \log (c z+d) \\
& -\pi i\left(s(d, c)+\ell s\left(d, c^{\prime}\right)\right)+2 \pi i s\left(d, c ; \frac{d g}{N},-\frac{c g}{N}\right)-\pi i \bar{B}_{1}\left(\frac{d g}{N}\right) \\
& +\pi i B_{1}\left(\frac{g}{N}\right)+\log \left(1-e\left(-\frac{g}{N}\right)\right)-\log \left(1-e\left(-\frac{d g}{N}\right)\right) \\
& +\frac{\pi i}{12} \cdot \frac{a+d}{c}\left(\ell^{2}-1\right)-\frac{\pi i}{4}(\ell+1) . \tag{3.13}
\end{align*}
$$

Theorem 3.2. For $V \in \Gamma_{1}\left(2 N^{2}\right)$,

$$
\begin{aligned}
\log H_{m, g}(V z)= & \log H_{m, g}(z)+\frac{\ell+1}{2} \log (c z+d)-\pi i(s(d, c)+\ell s(d, c / \ell)) \\
& +2 \pi i s\left(d, c ; \frac{d g}{N},-\frac{c g}{N}\right)+\frac{\pi i}{12} \cdot \frac{a+d}{c}\left(\ell^{2}-1\right)-\frac{\pi i}{4}(\ell+1) .
\end{aligned}
$$

Proof. If $V \in \Gamma_{1}\left(2 N^{2}\right)$, then

$$
a \equiv d \equiv 1\left(\bmod 2 N^{2}\right) \text { and } c \equiv 0\left(\bmod 2 N^{2}\right) .
$$

Thus we have $d \equiv 1(\bmod N)$. Then the results follow from (3.13).

## References

[1] M. Abramowitz and I. A. Stegun, editor, Handbook of mathematical functions, New York, 1965.
[2] G. E. Andrews and F. G. Garvan, Dyson's crank of a partitiions, Bull. Amer. Math. Soc. (N.S.) 18 (1988), 167-171.
[3] A. O. L. Atkin and H. P. F. Swinnerton-Dyer, Some properties of partitions, Proc. London Math. Soc. (3) 4 (1954), 84-106
[4] B. C. Berndt, Two new proofs of Lerch's functional equation, Proc. Amer. Math. Soc. 32 (1972), 403-408.
[5] B. C. Berndt, Generalized Dedekind eta-functions and generalized Dedekind sums, Trans. Amer. Math. Soc. 178 (1973), 495-508.
[6] B. C. Berndt, Analytic Eisenstein series, theta-functions, and series relations in the spirit of Ramanujan, J. Reine. Angew. Math. 304 (1978), 332-365.
[7] F. J. Dyson, Some guesses in the theory of partitions, Eureka (Cambridge) 8 (1944), 10-15.
[8] F. G. Garvan, New combinatorial interpretations of Ramanujan's partition congruences mod 5, 7 and 11, Trans. Amer. Math. Soc. 305 (1988), 47-77.
[9] J. Havil, Gamma: Exploring Euler's Constant, Princeton, NJ: Princeton University Press, 2003.
[10] D. Kubert and S. Lang, Modular Units, Grundlehren der mathematischen Wissenschaften Vol. 244, Springer, New York 1981.
[11] K. Mahlburg, Partition congruences and the Andrews-Garvan-Dyson crank, Proc. Natl. Acad. Sci. USA 102 (2005), 15373-15376.

Sung-Geun Lim
Department of Mathematics
Mokwon University
Mokwon Gil 21, Seo-gu, Daejeon, 302-318, Korea
E-mail address: sglimj@mokwon.ac.kr

